Ml = 0l & AFESE EH Al A
2023 =0ilAF LBHEIH 25K
2N 25HSD
M #M2IAY|(25HSY)
o2t J|=3H| (crel: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ey N 18,752,042 17,229,564 1,522,478
= 1,665,393
7l 1,361,233
[ 2,280,888
z 13,144,528
CH 300,000
HHRAAH (2SS H) 25,620 25,620 0
DI 25,620 25,620 0
J|1=3| 25,620 25,620 0
201 LBt 16,980 16,980 0
01 AFR2t2IHI 14,980 14,980 0
OJ|ZSAIRE 3| 100,000 %179l 1,700
OAIRI1D] & SAZE 7,700,000 7,700
OJ|Et==2H| 1,500,000 1,500
OSUH|(SSHHS UL
8,000 17Q1x304! 4,080
02 222YH| 2,000 2,000 0
ORERE S 2,000,000 2,000
202 04H| 8,640 8,640 0
01 2LH0IH 8,640 8,640 0
ozlobl(=s&l)
180,000 4SS+ 122 8,640
HY XX 2H (23S 3,600 3,600 0
SNERSH 3,600 3,600 0
ol 3,600 3,600 0
203 YR=ZIH| 3,600 3,600 0
04 PASHADZIIY 3,600 3,600 0
ORNZ2ZHRFEH| 300,000 %12 3,600
250z S 5,414,488 6,902,194 1,487,706
7l 943, 183
[ 546,931
z 3,624,374
CH 300,000
25102 BALEX 29 1,716,076 1,470,386 245,690
7l 243,183
[ 288, 181
z 1,184,712
250z 29 264,806 146,986 117,820
201 LBt 76,756 60,936 15,820
01 AFR2t2IHI 74,180 58,360 15,820
OS0=AL B S50 HE
55,0002 %403 2,200
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2N 25HSH
HM: 230 s
ol E230ls AR 2Y CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OXsS2IH=d)=4 2
3,000,0002* 1174 A 33,000
O=30&Zo BIII| FA+Y
100,000 50123 1,000
OMEP2310SEED |2 AloRs| &A
=< 100,00024+821%43] 3,200
OlIZIREE U JMAIBES0IE 84 2
A=< 300,000 201 %45 x 122 28,800
OZgHI(2sHsg =)
8,0002%7Q1%80A! 4,480
OsgHUS £ 25|
500, 000433 1,500
02 2229 2,576 2,576 0
OZSH0l=AI 2E8 2BRZ 2,576
0s I 2, 18024%7000H 1,526
0 gt 35021%3, 0000K 1,050
202 04H| 16,800 16,800
01 2LH0IH 16,800 16,800 0
O ES =
200,0002%7Q1x 122 16,800
203 L2 =AY 3,000 3,000 0
03 AIZHZ=RIQD A 3,000 3,000
OZstH=gRF=d 1,000,000 1,000
OFLESHAIEF=& 1,000,000 1,000
ORS0lI=HAIF=E 1,000,000 1,000
301 Y2 A S 2,250 2,250 0
11 BAFAHIXI 22 2,250 2,250 0
O30S AL BA(Z,5Y)
15,000243021%53] 2,250
307 212+0| & 166,000 64,000 102,000
02 QIFAAAIRIE R 136,000 36,000 100,000
OFEVUE=0l 4 XA 5,000,000 5,000
ONEZ0IR Z2t 6,000,000 6,000
OMHEPSEI=0IEAHE R L2 X
40,000,000 40,000
OdHItHe 2% 25,000,000 25,000
OUEHX| BE 22t X2
30,000,000 30,000
OAESK B L2t X
30,000,000 30,000
04 QIZFSHAIAIRIE X 30,000 28,000 2,000
OMERZNEES NE3IE K2
5,000,000 5,000
OX=ZANZZEUE R 5,000,000 5,000
OMESsAHANS XA 20,000,0002 20,000
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2N 2SS

M 2oz &

Hel 230 BAFEN 29 (cHol: x2)
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
gHSHIZS=EM Rz 50,000 180,000 A130,000

L= 50,000
307 212t01™ 50,000 180,000 A130,000
= 50,000
04 QIZFHAIAIE E X 50,000 180,000 130,000
OgZ&dI=2at=H K& 50,000,0002 50,000
= 50,000
XelatEstrl izl 30,000 30,000 0
307 @12+0|& 30,000 30,000 0
04 QIZFHAIAIE E X 30,000 30,000 0
OXleldHESHH K& 30,000,0002 30,000
sg=zsol=sH 290,070 212,800 77,270
| 203,683
L= 28,181
i 58,206
308 XXIHHMSOIH 290,070 212,800 77,270
| 203,683
L= 28,181
i 58,206
11 B2 SOHEHE A E LAY 290,070 212,800 77,270
Osgzstolgd 290,070,000 290,070
| 203,683
= 28,181
i 58,206
SHErE SRS AL 80,000 80,000 0
307 @12+0|& 80,000 80,000 0
04 QIZFHAIAIE E X 80,000 80,000
OS2 W23NE ALK 60,000,000 60,000
O4SEECIER L HEISYS
20,000, 000& 20,000
A2E 2= HHA 75,000 102,000 A27,000
201 et 3| 40,000 70,000 230,000
03 A2 ZH| 40,000 70,000 230,000
O2dI20t S43 15,000,0002! 15,000
OLEHM, HZEESESH 2,000,000 2,000
ORXNYIED H ARS2 2oeAL 2
12,000,000& 12,000
OSH ZEHRI| &AL 22
1,000,000 * 1144 11,000
307 212t01™ 35,000 32,000 3,000
04 QIZFHAIAIE E X 35,000 32,000 3,000
OFAL HYZ St 15,000,000 15,000
OFas943| 20,000,0002 20,000
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[l
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KIo

Hlw

127,600
AT4,000
1,600
1,600
200,000
200,000

74,000

180,000

180,000

180,000

/20,000

220,000

20,000

dEE
Ofl &b oK

5,000
5,000
5,000

81,600
80,000
80,000
1,600
1,600

60,000

60,000

60,000

50,000
50,000
50,000

80,000

5,000
5,000
5,000
5,000

209,200
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6,000
3,200
3,200
3,200
200,000
200,000
200,000
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90,000

180,000
90,000
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180,000

H

H
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H

180,000
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40,000
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40,000
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H

H
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50,000

iy
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40,000
40,000

iy

H
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W
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o1 1107 1oy
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- H
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307 212+0|&
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el ad

1104
0H
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=
10
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1104

3

5

2| %D
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8,000& *4002!

3,000,000
100,000, 000& 2

4AH2EH

p=1

[=1

03
307 212+0|&

1[]

o

307 212t01&

180,000, 000&

H

HE ONE (&

F

k

307 212+0|&

2|

=)

=]

40,000,000

3
H0
il

o

10}
il

]
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T

__.Ao

4AF2EH
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0
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2AM:
T ZH -
o /e

cH):

22x
W 1 10
02 ¥
> 0lon

[0 HO MO
ol foi fol

&l

=
T

(o]
=]

H0

HEE

2A - B C9I(SH) - HRAIY - BAS O bt e HIDE2
307 212t01 & 80,000 80,000 0
= 40,000
o 40,000
04 CIZIHALAIRIE T 80,000 80,000 0
OEXIAN &eat AHEEC AU
80,000, 000& 80,000
& 40,000
i 40,000
Y22 ZISZAS 62,000 62,000 0
| 39,500
o 22,500
201 22| 62,000 62,000 0
| 39,500
o 22,500
03 AL2ZEH| 62,000 62,000 0
OZ0lsl2tdt o= ge=2=2 2332
62,000,000& 62,000
| 39,500
i 22,500
AT Z30=3AL XIRAY 10,000 10,000 0
= 5,000
o 5,000
307 212t01& 10,000 10,000 0
= 5,000
o 5,000
04 CIZFHALAIRIE T 10,000 10,000 0
OMEWTEES ME0I=Tol
10,000,000& 10,000
& 5,000
i 5,000
adzotEEZ2 ) & 200,000 300,000 A100,000
307 SI2t01 & 200,000 300,000 A100,000
04 QIZHHAIAISE 2= 200,000 200,000 0
Oddzstatzoz ) X3
200,000, 000& 200,000
S=0 J8Ary K& 20,000 20,000 0
= 10,000
i 10,000
307 212t01& 20,000 20,000 0
& 10,000
i 10,000
04 QIZHHAIAIE 2= 20,000 20,000 0
O=sst=sRD|1gArE dALKIA
20,000, 000& 20,000
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ord
K]
OH
[l

-

KIo

Hlw

50,000

50,000

50,000

21,820,846

A3,440

1,560

480

dEE
Ofl &b oK

20,000

20,000

20,000

5,165,488

40,000
40,000
40,000

39,020
27,020
12,300

iy

10,000
10,000
20,000

H

iy

10,000
10,000
20,000

H

H

10,000
10,000
20,000
20,000

H

H

10,000
10,000
50,000

H

iy

15,000
35,000
50,000

H

H

15,000
35,000
50,000

H

50,000

H

15,000
35,000

3,344,642

H

J|

700,000
251,000

2,003,642

H

H

CH

300,000

40,000
40,000
40,000
40,000
35,580
28,580

12,780
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1,200
1,200

100

2,640

5,600
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W
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o1 1107 1oy
0K OF OR

$: VoL

- SR(SIAH) - HRAHS

- H

A

307 212t0l&
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10,000,000

Hledl

307 212+0|&

r

OgA

114)

=
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50,000,000

Kl

WA

O

M0
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=
=)

d

i
0J
=

b

308 Xt

30
W

Al
x

[0
H0

40,000,000

O

01 AlR-2teld

50,000& 123

to
i

OARI1DI &

100,000& 122
100,000& 122

ol

oo
Uil
30
Vg

5
220,000+ 122
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=
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100,000

30
W
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A
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E
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2N 25D
HM: 230 s
CHol: 25H0ISD|BHAI LSS iR (ctel: 72l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ORIItHEH =2 120,000 %122 1,440
02 2229 15,800 14,720 1,080
Oostie= 30,0004 128 360
omMIIR2 1,090,000« 12& 13,080
OXM3BAIES FHI| OHNE
2,000,0004%13] 2,000
Oasl4=Ea3 30,0002 %122 360
401 Al&HI L2 0HH 5,000 10,000 5,000
01 Al&H] 5,000 10,000 5,000
OAIESX 22l 5,000,000 5,000
405 KA SH 2,000 2,000 0
02 SATLUH 2,000 2,000 0
O29E A7 2,000,000 2,000
N ENEERE 79,723 47,983 31,740
101 Q124H| 2,913 2,823 D
VBIE I 2,913 2,823 D
OS30sAlLS 22| L AR 2,913
0olE= 76,9602%101%30 2,309
(=S == 76,9602 %101%42 308
0=0I3 2,616,64024%4 5% 118
0=2ALLE= 2,616,64021%3.545% 93
0L QIAD|RYUEE 92,9603 *12.81% 12
0NEZE= 2,616,6402%1.75% 46
0MTHEEZ 2,616,640 %1% 27
201 L2 A 5,560 5,160 400
01 AFR22IHI 400 0 400
O/ 2351 12| HISH24 SR A}
80,0002%53] 400
02 2229 5,160 5,160 0
OMHEISINHE| AER3
30,0004 128 360
OLER252| D23
400,000 %122 4,800
401 Al&H| 2L S0 59,000 40,000 19,000
01 Al&H] 59,000 40,000 19,000
O=3F0sAES RS
20,000,000 20,000
O=342l U3 nHIA
20,000,000 20,000
O#H=25H4E A& 24
19,000, 0002414 19,000
405 KHAHE SH 12,250 12,250
01 AU SEFSY| 12,250 0 12,250
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SA: 23S
HM: 2350 S
&2l EstilsD|BtAlIgdE s 2tel (CHRl: &)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OME23H 2D 2 HAIE 2
10,210,000 10,210
OIS A2 Al EHO 2
170,000 % 12CH 2,040
ME2E s e 456,900 760,508 A303,608
101 Q14| 58,431 54,074 4,357
04 JRIMZ 2RI EE S 58,431 54,074 4,357
O=23H0£3|12 29 QI 58,431
0122 76,9602 x201%2492! 38,327
0FXt==g 76,9602 %2Q1x50= 8,004
0AXt =S 76,9602 %201%13 2,001
0=01013 48,352,430 %4 . 5% 2,176
0=eRALEES 48,352, 43021%3.545% 1,715
0LCQIE) | QUL S 1,715,00024%12.81% 220
0LEEE= 48,352,430 %1 . 75% 847
OMTHEE = 48,352,430 2% 1% 484
VSRR 2,328, 11024x20! 4,657
201 LB 155,419 160, 184 A4,765
01 Al22:2IH| 40,569 45,334 4,765
OYet AREZ ¢ 50,00024% 122 600
Osta A g 60,0002 x40EtA 2,400
OF3A8E 7Y 100, 0002 % 12 1,200
ORzgstalg v+ 250,000 %43] 1,000
OLstdl & MEM 2
100,000 * 123 1,200
ouensz 30,00021+2Z+123] 720
OF=D| 22l 52,9009 122 635
OR0I1AH| #4232 230,00024*123 2,760
O9PAS 150,000 *63] 800
OF220)5|1 2018t 3|
4,000,0002x13] 4,000
ORASAFLXIE FH|
1,000,000 %13 1,000
Ogegts apg 12,00021% 122 144
ogtgtate| =2 250,000 * 12 3,000
OAZAIE XM EHSIIsEHY £42
1,000,000 %23 2,000
OFIIEEA e 222
1,000,000 * 122 12,000
OFI| HI|GHHZAL 42
1,000,000 13 1,000
Oz2)| HEEY 242
180,000 128 2,160
OS2 HIIZA 222
300,0002%13] 300
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2N 25D
HM: 230 s
CHel: 25H0=0| AL S S U 22 (CHol: X 2)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OQUBIARIIA SQINHEHT DAL 22
=3 150,000&%13] 150
O22d ZA =25 500,000R%27| 1,000
ONAMEET Q2 HA 222
400,0002%13] 400
O2LY HIYHE =5 42
1,000,00084x23] 2,000
02 2229 114,850 114,850 0
02222 2 MAl 67,400
OMSIALIIA ALDHjAIHQIEE 2
60,0002%13] 60
04Ot S| 80,000 13 80
02224 ZAIHA JDIZEX W]
60,000%13] 60
0XMIIR2 4,100,000+ 12 49,200
MGt E AMEZ 1,500,0002*12& 18,000
OAI&EH| SXIH| 12,200
0JIH&EH ARD H2la
20,0002+ 105+ 122 2,400
0222 AZ(H2M, HSUES, BZXIAl
SR 20,0002/%150 4 3,000
022 SXE2 22|
2,000,0002%27| 4,000
0222 A2 & HH| 1,400,0002 %27 | 2,800
O¢2H| 35,250
MM 23S 3 2 JtA e
1,5002%23, 500kg 35,250
401 Al&H| 2L S| 243,050 544,050 A301,000
01 Al&H] 243,050 544,050 A301,000
OJIHA tsS&Hl S22l
2,000,00084%27| 4,000
OUZZ WAL (LS|, QIHE, HIHE
) wHl 6,000,000 »2CH 12,000
OUBHE, ADCE QUHEY HT Q2
S uA 300, 00024 +20CH 6,000
OUBHE 20 PSAE 22z 22
45,0004 10CH 450
OU2e1Z 2 =8 J|H&H FHI
5,000,000 13 5,000
OW LA AlLKD| &AL "
160,000 %35CH 5,600
Og2e! A 85,000,0002%27| 170,000
O=22 WHO 2 TAIDIA ZHIBAH
40,000,000 * 14! 40,000
BOOK-START AL 3,000 3,000 0
[ 1,000
= 2,000
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2A:
X{XH -
o /e

cH):

FRI= 10
s &S
Hll= D | BHA | B2t 2t

[0 HO MO
ol foi fol

A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
308 XIXISHHISOIA 3,000 3,000 0
[ 1,000
= 2,000
11 B S0 HEH B AR (A 3,000 3,000 0
(OBOOK-START AL 3,000,000 3,000
[ 1,000
= 2,000
BIEMHI25 PRI 2 22 9,900 7,300 2,600
201 L2 A 9,900 7,300 2,600
01 AFRZ2IHI 9,900 7,300 2,600
OALAIE HI|BAH 42
1,300,0002 %23 (A+HEHD|) 2,600
OUIIEAIM HiE =& 222
1,300,000 13 1,300
OFde ZA =8 4.,000,000%13] 4,000
OX$ZE HA
900,00024*23] (AtHEH|) 1,800
OLZHA 42
100,000 *23] (At5HEHD| ) 200
SHEAHI25 PR HE AL AP 950,000 1,500,000 A550,000
7l 700,000
[ 250,000
307 212+0|& 950,000 1,300,000 350,000
7l 700,000
[ 250,000
02 QIFAAAIRIE R 950,000 1,300,000 350,000
OBt=24H|25t01 22 HEoi
950,000,000 950,000
7l 700,000
[ 250,000
J|at=otged el 66,939 105,277 138,338
101 Q124 15,499 11,277 4,222
M IIHR22IEES 15,499 11,277 4,222
OJlAt=ete 22| 15,499
0olE= 76,960 101%130! 10,005
0=Xt=< 76,960R%101x512! 3,925
0=0=EE= 13,929, 76044 . 5% 627
0=2UHLEEE 13,929, 7602 %3.545% 494
0= IRSEE 493,81024%12.81% 64
OMMEE= 13,929, 76024 * 1% 140
0EEE= 13,929, 7602 %1.75% 244
201 L2 S 25,440 49,000 123,560
01 AF222IH 11,040 34,720 123,680
OLBIIREE 72 100,000 % 12 1,200
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2A: 2SS
M 2oz s
&2l EstilsD|BtAlIgdE s 2tel (Ctol: ®M2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OAMSID| ARE 100,000 % 12 1,200
O2g=E 72 400,0003*12& 4,800
ORolgHIe=2 320,000 %122 3,840
02 S=2Z| 14,400 14,280 120
omMIIR2 900,000 %12 10,800
O=k23 50,0002 %122 600
Oostie= 150,000 128 1,800
QUiLEn)| SX1d] 100,000+ 122 1,200
401 Al&HIZ2THY| 26,000 40,000 214,000
01 Al&H| 26,000 40,000 214,000
OJ|at=2ote L JIAH |XIE4
26,000,000+ 14! 26,000
2 itgd=38 18 1,000,000 1,000,000
402 QI2EXH=0|H 1,000,000 1,000,000
01 CIZEXH=2 A B2 (XERITHE) 1,000,000 0 1,000,000
O2s tgd=& 1¢
1,000,000,00024%14! 1,000,000
2dsta gl 41,600 262,400 £220,800
201 L2 3| 36,600 32,400 4,200
01 At22t2ld| 18,600 14,400 4,200
OX2Ystat AN SN2+
6,000,000 *2CH 12,000
Oo&=2gsta g8 300,000 %12 3,600
Odergy] & At Lf I Ea
3,000,000& 3,000
02 2=223H| 18,000 18,000 0
omMIIe2 1,500,000« 122 18,000
405 XHoHESHI 5,000 5,000
01 At 2FFSHI 5,000 0 5,000
Ogsta HEA WHte)| 3¢
5,000,000 *1CH 5,000
SHl Oi=&& de HEAS 300,000 0 300,000
cH 300,000
401 Al&HIZL 20| 300,000 0 300,000
CH 300,000
01 AI&HI 300,000 0 300,000
OZEW=&2dH Y|
100,000,000 * 14! 100,000
CH 100,000
OsHl G2 dE Il 2 AAEA
200,000,000 *14] 200,000
CH 200,000
the REF 2 22 6,000 6,000
201 LBt 3Y| 6,000 0 6,000
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2M: 2SS
M 20z E
thel: 2D IE S S 2] (Crel: & 2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
02 2223H| 6,000 0 6,000
OrSPIEet=; 500,000&*12& 6,000
sE0E O=H 355,000 355,000
201 etz 5,000 5,000
01 AtR2t2] 5,000 0 5,000
O XIAIR 5,000,000 5,000
401 Al&HIZL 20| 350,000 0 350,000
01 Al 350,000 350,000
ORIoe UxsH (=4
350,000,0002! 350,000
Zse 29X 353,770 266,320 87,450
= 7,750
o 346,020
SFEASTANKIA 20,900 12,000 8,900
& 5,000
i 15,900
307 SI2t01 & 20,900 12,000 8,900
& 5,000
i 15,900
02 CIZHEAAIRIE X 20,900 12,000 8,900
OSEAZTAL X 20,900,0002 20,900
& 5,000
o 15,900
ezt 2I X 142,550 93,000 49,550
307 QI2H0| M 142,550 93,000 49,550
03 QIZHHHE2IHIEE 142,550 93,000 49,550
OXgzsa 29 XI& 142,550,000 142,550
Zsetu24d 27,520 27,520
307 BI2t0I& 27,520 27,520 0
02 QIZFA A EE 27,520 27,520
O=sletn 29 XA
430,000 3 x84 £H+8 27,520
Z=3tSHAL R 10,000 10,000 0
= 2,750
o 7,250
307 QI2H0| M 10,000 10,000 0
= 2,750
= 7,250
02 2l2tA 4t 10,000 10,000 0
0252 2518AIK| 10,000,000 10,000
& 2,750
i 7,250
UZBASE 152,800 123,800 29,000
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SN 2SS
N 25101s NS
Ciel: NYEse 2gXe (crel: iz
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
307 21201 152,800 123,800 29,000
02 RIFAAIEE 152,800 123,800 29,000
oS3t =W 29 X2
300,000 * 102 +247} 8t 72,000
ONZBAIMAT KB 5,000,0008! 5,000
OMETPILSEY a2t
10,000, 0002 10,000
OZLEXAD| 02454 HANE X
42,000,0002! 42,000
OXIZ2st AlISSRIR A
23,800,0009! 23,800
2EIR4 B 3,914,621 4,117,784 1203, 163
=2 1,665,303
b 104,980
< 643,250
z 1,500,998
Jtor2st 243t 11,000 11,000 0
023 KIS H 11,000 11,000 0
201 2eteg| 6,000 6,000 0
02 B2 6,000 6,000 0
OJI0IReH™ XYM AZR480ls =Y
3 6,000,002 6.000
301 et EZ 1,000 1,000
11 SAIAHIXI RS 1,000 1,000
OJI0F23t2 BS9aE JA
100,000 109! 1,000
308 KHXIEHHISOIA 4,000 4,000
11 2|2 SUITHEHE A =PI AT 4,000 4,000 0
OJI0F23A AZBRE FMTSHE 28
3 4,000,00094 4,000
HE25 BE L IS 95,900 65, 180 30,720
< 21,500
2 74,400
QU HSEH 25,500 24,500 1,000
307 21201 & 25,500 24,500 1,000
02 PIRIFAAEEE 25,500 24,500 1,000
OHs - s E5aHa X8l
10,000, 000! 10,000
O - N Hi2ll X2
1,000, 0002674 2 6,000
OBHS8Im APEIE Ml & Aol o 8iA
! 2,000,000% 2,000
OIS - S8 |20 AL |2
3,000,000 %27H 4 6,000

- 398 -




A 2SI
HM: 2R 2EL
oPlr MSEe BE € A5 (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O/IOHEAL MERSFIHSAIY X
1,500,000 1,500
SN2sHs X 49,000 13,600 35,400
< 14,700
= 34,300
307 212+0|& 49,000 13,600 35,400
< 14,700
= 34,300
02 QIFAAAIRIE R 49,000 13,600 35,400
Ot - ctd8tn S04 29 X2
22,000,000 22,000
[ 6,600
= 15,400
O/HY - CtE 8t MNE235 HsAIY X
27,000,000 27,000
[ 8,100
= 18,900
PEHSSHASKA 21,400 13,600 7.800
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= 721,700
= 154,650
i 154,650
401 AIZBIZ =0 22,000 63,000 41,000
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= 20,000
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= 5,000
s 25,000
23t etLHEt FH| 6,500 60,000 253,500
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0524 76,9602 %201x2120150% 4,849
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0223184 ARE 1Y
50,0002 x4 A3 600
oMo L 3,000 +500H*3& 450
02 222 20,400 20,400 0
OZEsHE MI|Qa
1,000,000+ 122 12,000
ONTESHE AG+ER2
450,000 %122 5,400
OHZEEtS HiSt24 Sl
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OMERHSS A22 29 K
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ZEERIM=EUS &t 170,000 160,000 10,000
307 212t01 & 170,000 160,000 10,000
04 CIZIHALAIRIE T 170,000 160,000 10,000
OIS &It X ¥ =229
170,000,000& 170,000
=0IM=SU = XA 220,000 215,000 5,000
307 SI2t01 & 220,000 215,000 5,000
04 QIZISHAIAIREE X 220,000 215,000 5,000
OSH MsA XA
20,000,000&*110HSH 220,000
Msesdes4X=R 11,000 11,000
307 212t01& 11,000 11,000
02 QIRHBAIAHE R 11,000 11,000 0
OMsds SEXRA
1,000,0002* 1152 11,000
JAECMENSUHSEHE &It 130,000 120,000 10,000
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SA: 2SS
HM: AME HsSES 1A
el ZoN=sES 2ds) (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
307 2I2H0I A 130,000 120,000 10,000
04 DIZFHAIAIZIE X 130,000 120,000 10,000
OZLMEHISUHEM 2t X
130,000,000 130,000
S ZESEHKE 20,000 20,000 0
307 212+0|& 20,000 20,000 0
04 QIZFSHAIAIIE X 20,000 20,000
O ZE2H MU =
1,250,0002 %1652 20,000
SIIASHYIR AL AL 6,000 6,000
307 2I2H0| & 6,000 6,000 0
02 QIFAAAIRIE R 6,000 6,000
OHHEQIE StNMETHSAIA Al XIH
1,500,000 4 H 2 & 6,000
R ELEEEN 10,000 8,000 2,000
307 2I2H0| & 10,000 8,000 2,000
04 QIZFSHAIAIIE X 10,000 8,000 2,000
OM=2l sletaiAt 10,000,000/ %13 10,000
SWEEEEN 181,200 181,200 0
201 L2 A 11,200 11,200
03 BAFS | 11,200 11,200 0
OFXE & W M= 2
55,0002*80% 4,400
OFXEd &Y 842 S HE 7Y
160,00024*300K 4,800
OFXEH KASA SAUSE 1Y
2,000,000 2,000
307 212+0|& 170,000 170,000
04 QIZFSHAIAIRIE X 170,000 170,000 0
OdXlzdd =X 1,000, 00030 E! 30,000
O/ (P B2RAE =3 SHEXEH
70,000,000 %13] 70,000
OLHs F=ell AESEZI0
70,000,0002 13 70,000
FSEICTICEEEN 40,000 40,000
307 212+0|& 40,000 40,000 0
04 QIZFSHAIAIRI B X 40,000 40,000 0
OF=2 L THe| YA &It X
1,500,0002 %203 30,000
OXF= L T HSHA HHE X
5,000,00084x23] 10,000
H2REEH3 40,000 55,000 A 15,000
307 212+0|& 40,000 55,000 A 15,000
04 QIZFSHAIAIRI B X 40,000 55,000 A 15,000
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A 2FHS D
M AHE HSES XY
el ZoN=sES 2ds) (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OXZEETUE] A
40,000,0002* 12 40,000
MHPAH MIRAE 203 WA 62,000 62,000 0
== 12,000
2 50,000
307 QI2H0IA 62,000 62,000 0
== 12,000
2 50,000
04 DIFBHAIAI B X 62,000 62,000 0
O P4 MZRAHERUE
62,000,000 13] 62,000
= 12,000
2 50,000
SINS |4 X2 70,000 70,000 0
307 2120 A 70,000 70,000
02 QIFAANAIY B 70,000 70,000
OZeIHE 2II5tn X&&p X
10,000,000 10,000
O3L=R s4XI& 10,000, 0002 10,000
OEZcsn 23 Y &8 2%
40,000,000 40,000
OZRIHE Z2Y NS2 ALHE X
10,000,000 10,000
XI2lak Mt HILIATHS 20,000 20,000 0
307 QI2H0|A 20,000 20,000
04 BIFBHAIAI B X 20,000 20,000 0
OXl2ldt M=) S50 HILIAMS
20,000,000 %13 20,000
QNG AT B0t HEl 30,000 20,000 10,000
307 2120 A 30,000 20,000 10,000
04 QIEBHAIAFE X 30,000 20,000 10,000
OBAEET BT SIS
30,000,000& 12 30,000
SRS (SHE, DAY 2S5} 140,080 117,420 22,660
201 e 130,080 117,420 12,660
01 ALR2t2IH] 26,160 23,520 2,640
O$E Y HAZ B 26,160
OAYAIL OHREY 242
250,000 * 122 3,000
OFIIHMEA 3l 442
900,0002!* 122 10,800
0520| HNEH Uiy +42
150,000 % 122 1,800
0SLQIAHIAIAL HEH 442
330,00024* 12& 3,960
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2 SH=L
pal |

HM: AME HsSES 1A
el ZoN=sES 2ds) (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
0slAZ2| T2 SXS4t|
220,000 128 2,640
0F=D|, BED| U 22
330,000 % 12 3,960
02 222 103,920 93,900 10,020
O£z U dAZ 2ZRS 103,920
0XMIIR23 5,835,000 122 70,020
M= ER23 2,700,000 %12 32,400
0QIEYIR= 125,000 %12 1,500
401 AlEH| 22 OHH 10,000 0 10,000
01 Al&H] 10,000 0 10,000
SE2SHSUEH AIES X2
10,000,000 10,000
2 FEAS =205 K 20,000 20,000
307 2I2H0| & 20,000 20,000 0
04 DIZFHAIAIRIE X 20,000 20,000
OZd FE= =203
20,000,000 %13] 20,000
SIS ZRATRZE AR 64,000 30,000 34,000
307 212+0|& 30,000 30,000 0
02 QIFAAAIRIE R 30,000 30,000 0
OME=EATX2Y S
30,000,000 30,000
402 QI2EXHE0|H 34,000 0 34,000
01 QIZFRF2 AL E AR (RHRITHS) 34,000 0 34,000
OXter el 12,000, 0002 +2CH 24,000
OSXIH 10,000,000 10,000
AHPHEDCS 2HX| 575,713 460,978 114,735
[ 100,000
= 475,713
201 L2 A 23,240 77,040 53,800
01 AFRZH2IHI 10,800 67,440 56,640
Ot 292E 7Y
150, 00024 +2IH A+82 2,400
Od4tt 29 2 282 2
100, 0002443 400
Oxtgs dg(SEII=) 8,000,0008! 8.000
02 222 12,440 9,600 2,840
O2222 < HMAl 8,040
O00tItE2t2|H] 400,000 %122 4,800
(pJES=F= 150,000 * 122 1,800
0QIEUIAIR R 40,0002 %30 Ax 122 1,440
Oxtzratel 2 5HoImA
200,000 %12 2,400
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2A:

= ;ZBJ HNEeEs X
&P ZOXSEs 435 (CHRl: &)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
Oxted F=R(sEI1E) 200,000 %102 2,000
301 YEIEEZ 552,473 362,738 189,735
& 100,000
= 452,473
20t - 2SRESES 552,473 362,738 189,735
@ftikal:] 310,000
0= 60,000,000&*19! 60,000
& 19,354
o 40,646
0&%=(B3) 55,000,000 %201 110,000
[ 35,484
o 74,516
0&4=(B3) 50,000,000 %10l 50,000
& 16,129
= 33,871
0&2=(C3) 45,000,000 %201 90,000
[ 29,033
o 60,967
o4t B&8s 33,790, 4202 33,791
g& ez 21,666,6602 21,667
O=gdl & 83| 133,815
02Z=&s=Hl 300,000 %12 3,600
QW SXI2Yl 200,000/ x12& 2,400
0 M X 400,000 12& 4,800
O ==&| 35,000 +501% 177! 30,975
(IZSPNESTEL] 84,000 *601x352! 17,640
(W E=FSETE] 84, 0002*601%502 25,200
OSEAZ 700, 00024 %601+63] 25,200
0sgxAZ 4,000,000 +60! 24,000
ou=E+a| 800,000 %601%43] 19,200
O3+l 6,800,000 %53 34,000
oI AZ=2R0|8d X2 15,960 0 15,960
| 11,172
& 1,436
o 3,352
301 LEEBHZ 15,960 0 15,960
| 11,172
& 1,436
o 3,352
01 AISIBEEGI2(2DETNS) 15,960 0 15,960
OFOfol AZ=2AFOIZH X
15,960,000 15,960
| 11,172
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2N 2SHSD
Hm: AFE WSS XA
Eel: ZOINSE= 245 (Crel: xel)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
o 1,436
=z 3,352
MEZESSH) IO 2 29 19,000 19,000
401 AIEHI 2S00 19,000 19,000
01 Al&] 19,000 0 19,000
OMEZNESs ) 2280 48 2o
19,000,000 * 14! 19,000
DTHSAEE 2,610, 181 2,719,441 109,260
ZTASAE2Y 477,181 511,661 34,480
101 Q12| 146,661 187,501 40,840
04 JIH22XNEES 146,661 187,501 40,840
O=ZeIHSMEH 22 26,718
0=z 76,9602 %101%2492 19,164
0F=RpE 76,96024%101%522 4,002
091 X2t 76,9602*101% 11 847
0=pIi=2 24,013,000 +4. 5% 1,081
0=pIz2AEs 24,013,0002%3. 545% 852
0| QURE2 852,00024*12.81% 10
0nELE2 24,013,0002*1.75% 421
AHHEE 2 24,013,000 1% 241
ogRHs2e 2e 26,718
ez 76,9602 %101%2492! 19,164
0F=RpE 76,96024%101%522 4,002
091 Xpaet 76,9602*101% 11 847
0=pIi=2 24,013,000 +4. 5% 1,081
0=pIz2AEs 24,013,0002+3. 545% 852
0| QURE2 852,00024*12.81% 10
0nELE2 24,013,0002*1.75% 421
AHEEE 24,013,0002* 1% 241
OMzHS2Y 2| 26,718
= 76,96021%101x2492 19,164
0FXg 76,9602 101x52 4,002
0 Xf-gf 76,96020x101x11 847
0=01013 24,013,00021%4 . 5% 1,081
0=pIz2AEs 24,013,0002+3. 545% 852
0o QUBEE 852,0002%12.81% 110
0nELE2 24,013,0002*1.75% 421
AHEEE 24,013,0002* 1% 241
Odars2e 2e 26,718
0Jl=z 76,9602 %101%2492! 19,164
0Fxtgt 76,9602 % 101x52 4,002
(b= 76,9602*101% 11 847
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2 SH=L
2

HM: AME HsSES 1A
el SSHSAIE27 CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
0=2%= 24,013,000 %4 5% 1,081
0=2H2ZEE 24,013,00024%3.545% 852
0O QRABE S 852,00024%12.81% 110
0UEZE= 24,013,00024%1.75% 421
OMMEE= 24,013,000 1% 241
OZZHSAIE oR2t 22| 16,701
0122 48,1004 101x249 1,977
0=Xt=< 48,100 %101x522! 2,502
0 Xt 48,100=%101%112! 530
020113 15,009, 00024 +4 . 5% 676
0=2H2ZEE 15,009,00024*3.545% 533
0LQIEDIQLEE S 533,00024%12.81% 69
0UEZE= 15,009,000 %1.75% 263
OMMEE= 15,009, 00024 * 1% 151
OZZHSAIE =¥ SAFH| Q1AY| 23,088
0BLE2SH =Y SFFH|
76,9602 x301x50 11,544
0ZAIZR =8 23X
76,9602%201x502 7,6%
OSHEMEH S 2R T 23 A
76,96021%101x50L 3,848
201 L2 319,320 316,560 2,760
01 AF222IHI 62,608 59,648 2,90
OSIHEEX 72 22 000+ 1 =427 88
O2ZHSAIE &L ARE 1Y
100, 00024 *8IH A+ 122 9,600
OAMRESE 72 50,0002 12 600
OFAZRIBE 7Y
50,0002 *8IH A6 2,400
oMyoloi ¢ 3,00020%800H* 122 2,880
OAUHMSZ 2 7HA A2E ¢
200, 00024 x8IH A 1,600
OFIIBE(BY UE 5)7Y
600,000 574 A#23] 6,000
O&F=D| thodz 35, 000 *6IH Ax 122 2,520
OZIIFEFI| Hoi2
40,0002 +3 Ax 122 1,440
Ogts2te| At SIEtDNSY|
200,000 %301 600
OZZHSAIL 22l 88 £ 7Y
400, 00026 A 2,400
OFI|OHMAA 242 700,000 * 122 8,400
OALRR| AR 42
1,300,000 122 15,600
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2A:

M ANE HBSBE NN
oo ZIRHSALH %
CHel HSAILRR (cio) msl)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OAUKS2 20| oHRE 2
130,0002%12% 1,560
ORIBE A2 HIIOHEEA
2,500, 0002*2JH 4 5,000
OZ2HI(MISALULER)
8,000 *301%80A! 1,920
02 222 256,712 256,912 A200
OZ222 2 HAl 222,912
0AHoIER= 8,000 +7 N Ax 128 672
oM I3 222 240
oAlNHIS 2,500,0002% 122 30,000
0 2RIMEISMIE
2,500,0002% 122 30,000
odENSSH 1,000,00024* 122 12,000
osEesE 1,300,000 % 122 15,600
0 AP RO MIE
1,500,000 %122 18,000
o BEMET ST
1,500,0002% 122 18,000
ogdHsE S 1,000,00024 122 12,000
OEEXTD LI2AIL
900, 000212 10,800
0 AHE 2B S HIE 400,0002* 122 4,800
oAEE JptRCRuX
150,0002%12% 1,800
AR JPlREZTE
150, 0002+ 12 1,800
OHILIA, 2EE, ZAE
2,000,0002% 122 24,000
0EH CI2EASAIL
300,0002%12% 3,600
odler &3 300,0002%12% 3,600
oA IIABRTIE SHAIL
200,0002 12 2,400
CES S 300,000 % 12 3,600
OZAMHSHOIESH
500,000 %122 6,000
oaTtE MSAIE=S 70,0002 %128 840
OSHAAMSHOIESH
300, 00024 % 127K A x4 14,400
0 DRIMES FSAL
1,500, 0002 +6 9,000
Oddl=E2s 1,500,000 %122 18,000
OXMER= L QIEY!
25, 0002 *6 ) Ax 122 1,800
OAIEEHIS I 14,000
0AIOH HILIAZ 22| 22 ¢ 2,000
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SN 2HSD
Hm: AXE IS N
Cel: ZITHSAILR (il =)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
oAz 5,0002 %400 2,000
OALIHISZ JIHA AH |X24
500,0002!*13] 500
04SE DA MYl RXBS
500,000213|%20H A 1,000
0FDIAIE 22| SRIES
500,0002!*13] 500
ORISAILE XEBT SX|2e|
2,000,000 21*57H A 10,000
202 01| 7,200 3,600 3,600
01 =LH0iH] 7,200 3,600 3,600
OXSAE Y24
200,0002/%301% 122 7,200
206 Mzt 4,000 4,000
01 X=H 4,000 4,000 0
O4+222I2 HIZ, 5Hl, 0IIE 72
500,000 2!*83] 4,000
A2 HSAEEHS 2,133,000 1,107,780 1,025,220
401 AIEHIZ 200 2,113,000 1,107,780 1,005,220
01 Al&H 2,113,000 1,104,000 1,009,000
OMSAEBL L 2ERXH|
200,000, 0002+ 14! 200,000
OSH HBAIL ELAIY
154,000, 0002 % 14! 154,000
OSH 0lRI2E| 7 AXIAMY
150,000, 0002 150,000
OS¢ IS HOIESE AYM XA
22,000,00021% 1200 & 264,000
OMET HKSZ BLAY
100,000, 0002 * 14! 100,000
OMHEZ ALHAZE DD| MAALY
50,000,0002*3D| 150,000
OAED J2I2CBTR OIXEL| HXIAMY
200,000, 0002+ 14! 200,000
080 MABLE TLAMY
300,000, 0002 * 14! 300,000
OMEN MABTE EAAY
300,000, 0002 * 14! 300,000
OR0IHSHE 2/DL (LI A)
150,000, 0002 % 14! 150,000
O JIDtAlHES =& Y 2
25,000,00024% 14! 25,000
OHSZEE AL2 L =8 JH|
120,000, 0002 * 14! 120,000
405 KHAHE S| 20,000 20,000
NPEEEEE 20,000 0 20,000
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EM: SHF
M AHME Msgs N
e BIHSAILRR (chol m=)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OEMssE s80=) 7Y
20,000,000 % 1CH 20,000
SSHSAE 243 3,000,000 3,000,000
= 960,000
o 2,040,000
AR2HSZ AHAL(HEAY) 2,500,000 2,500,000
= 760,000
i 1,740,000
401 AIZHIZ 20| 2,500,000 2,500,000
& 760,000
[ 1,740,000
01 Al2Hl 2,500,000 2,500,000
OAT2HS2 ASA
2,500,000,000& 2,500,000
& 760,000
i 1,740,000
AEE MRS LAY (HEALY) 500,000 500,000
= 200,000
i 300,000
401 AIZHIZ 20| 500,000 500,000
& 200,000
i 300,000
01 Al2Hl 500,000 500,000
OttdE 3=y LA
500,000,000 14! 500,000
& 200,000
[ 300,000
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